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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 f&ar 7rar wHEm =¥ (Problem figure) #=r & 3cax &St (Answer Figures) & Question ID : 9864494131
" . uestion :
I e v F @feT 81 39 3caw 9 (Answer Figure) #r 9g=a &1
Status : Answered
Chosen Option : 1

Problem Figure

g3

Answer Figures

A B C D

wAEA == - Problem Figure
The given Problem Figure is embedded in one of the given Answer Figures. Which is that

Answer Figure?

Problem Figure

£3

Answer Figures

Ans ""1, C




X 2D
X 3B
X4 A

Q2 T T HE ST TEae fhee O &, S a3 4 W safaaiieE s
TiT areaaearat & FUT &iar &2

‘Who wrote the book ‘An Era of Darkness’ which extensively narrates the grim realities of
colonial India?

SO AR ISR
' V.S. Naipaul
X2 A HIT
Chetan Bhagat
75 orfer oy
Shashi Tharoor
AT TET
Salman Rushdie

X 4

Question ID : 9864492253
Status : Not Answered
Chosen Option : --

Q.3 FeFuET ARA A AT B YA TAFAHT A F T 01| FHAT TS
fore aer & am

One of the earliest explorers who visited India was Megasthenes. Which country did he
hail from?

Ans EE_Qﬁ
Ko
Ttaly

X2 o
Egypt
T

X 3
Spain

UeATed
vz "

Greece

Question ID : 9864492123
Status : Marked For Review
Chosen Option : 4

U e F AT AT T AT T FTTTETTE?
The energy released at the end of digestion is in the form of:

Ans x 1 AT 34T
 thermal energy

v TErafAE F4r
chemical energy

xg.ﬁ@ﬁ Far

electric energy

4 aTfast F=T
kinetic energy

Question ID : 9864493542
Status : Answered
Chosen Option :2




Q.5

Ans

3 LA F TAT FY SN AT GAg ¥ Fafod 4

(vV64,9), (V®T,10), (36,8), (V121 12)

Question ID : 9864494075
Status : Answered
Chosen Option :2

Select the pair that does NOT belong in the following group.

(V64,9),(V8I,10),(V36,8), (VI21,12)
X (V121,12)
v (V36,8)
<3 (V64,9)
X 4 (V81,10)

Q.6

Ans

2016 #F Frwrreier Sufafear, Ree e ¥ BT w e a9
MRS &7 AFaE ST T 3o F Fr O

Which country hosted the 2016 Summer Paralympics, a major sporting event for athletes
with disabilities?

*H

Question ID : 9864492180

Status : Not Attempted and
Marked For Review

Chosen Option : --

1.
Russia

X2 I
Korea

«33’@?

Brazil

x 4 CiG
China

Q.7

9409 FT FIH fhctar 7
What is the square root of 9409?

Question ID : 9864493004
Status : Answered
Chosen Option :2

ans of 183
X297
X387
< 489
Q.8 el 5 AeY 35U wiewH & I F, HHr et & T Jeeret HIoT 30°% A

Ans

afg efayr 45 Aex S o o el & ewnt fhdel gt W
From the top of a platform 5 m high, the angle of elevation of a tower was 30°. If the

Question ID : 9864492857
Status : Answered
Chosen Option : 3

tower was 45 m high, how far away from the tower was the platform positioned?

x1_4uaﬂa
40m

X2 153 Hiex

15v3 m
4043 HIeT
3.
v 4043 m




453 HIeT
xe 4543 m

Q.9 SfiFET X F 9fy shAdr Y &1 Af & FHolla a¢ &1 I e X & s ik
ANAN Y F oy == oS & ar e X w1 AT Y @ w2 "@ey 37
Ms. X's husband is the only son of Ms. Y’s mother. If Ms. X’s brother and Ms. Y’s

husband are cousins. then Ms. X is Ms. Y’s

e wm;mﬁmﬁ;m

Sister-in-law

AT

| Mother
RG]

XB'Sister
| T /ATET /Ay /g3 /A /AT

Aunt

K2

~<

Question ID : 9864493749

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q10 Grmfef@a & ¥ g $r sH1s, FaT I sFE & T g?
Which of the following has the same unit as energy?

Ans «1. EFF'fI'

Work
el

Force

3
. Density
x4 At

Power

K2

Question ID : 9864493401
Status : Answered
Chosen Option : 1

AN REr F gl R & gaer ass e Bar s 272
‘What does the symbol R in electricity stand for?

Ans x 1 faTer FTar (Rarefaction)

Rarefaction
X o N
Resonance
gfaarer
Resistance

EEErr

Refraction

Y &)

K4

Question ID : 9864493045
Status : Answered
Chosen Option : 3

12 e ST T Tar W
Find the odd figure:

Question ID : 9864494356
Status : Answered
Chosen Option :3




Ans

v

X2

jopele:

< 4
.13 3T|T1-_L:T - 3 5 ? . :
‘ A a2l ﬁ E'ﬁ-'l'ﬁﬁ' E,I:F:TI Question ID : 9864493837
Problem Figure Status : Answered

% Chosen Option :2

1P
o Lar

Choose the correct water image of the problem figure.

Problem Figure

4
4 A8

C D

Ans




X 1B
X2 A
vsaC
X 4D

O =3 7 T v fa=T e 7

Question ID : 9864492724
i i : ; Status : A d
Which of the following numbers is a prime number? atus - Answere
Chosen Option :2
Ans X 1.141
v 2181
<3121
x4 161
Q.15 e 0T fRoR JETem & 9 Elet 3 &g 20 AhE 3 AT TR aRoT 57 Jegeva Far 81 D 9864493100
IR T TR 10 FFEF X, AT AT 10 WFEAGY X, TH AT, A PR A Y Question ID:
Status : Marked For Review

i T E?

A particle experiences constant acceleration for 20 s after starting from rest. If it travels a
distance X, , in the first 10 s and distance X, in the remaining 10 s, then which of the
following is true?

Ans X1_X2=2X1

Chosen Option :

2

K2X, =X
K3 X =3X%;
viX,=3%,
Q.16 +
34, 51 3T 68 & &. . A R Question ID : 9864492762
. Status : A d
Find the LCM of 34, 51 and 68. 2 Answere
Chosen Option :2
Ans 21102
V2204
<3136
< 4238
Q17 v 93 # o & 6 aof °¢ T 3 I oM A7 3N bl FA £ O TF & i
915 = Tt 1 TS Rrw feom & gw Question ID : 9864493712
A watch shows 6 p.m. where the hour hand points east. In which direction is the minute Status : Answered
hand facing when the time is 9.15 p.m.? Chosen Option : 4

Ans 1RGP

Q.18




T 1o, Il T ] e % 01T, G T AT ATGT?
For dilution of a concentrated acid, we should add:

Question ID : 9864493109
Status : Answered
Chosen Option : 1

Ans

X1 9T H Aleg 35T
concentrated acid into water
X 2
T Igo 3T H 91T AR T o F 3w
first water into the acid and then more acid into the water
v o TR I & oredt
water into the concentrated acid
s ] 3T H 91T
water into the diluted acid

Q.19 forafafle & & i w1 arff 3 St 3R ey R RATO] HEA X o 3TN Ty
ElE

‘Which of the following is a correct pair according to increasing atomic number from left
to right?

Question ID : 9864493073
Status : Answered
Chosen Option : 1

Ans « 1. Be,B
X 2 He H
/< 3. Na, Ne
X 4 Ca, Cl

Q.20 for w=a & 15% &I, 519 g@dl HEA & 30% # ST e ¢ o 77 A=A
T & BT F 24% TEA FAT §1 T HEA, SIE FEA H gorn # 4
HOF F1 dET F 7
15% of a number, when added to 30% of another, gives 24% of the sum of the two

Question ID : 9864492866
Status : Answered
Chosen Option : 4

numbers. The bigger number is 4 more than the smaller one. What are the numbers?

Ans X 1.6, 10
<210, 14
/<312, 16
w8 12

Q.21 ymyfae e wwelt # frw g & O dc afde g € S for e it
& H B

Which group in the modern periodic table contains elements that are inert gases?

Question ID : 9864493294
Status : Answered
Chosen Option : 4

Ans HHg 15
X0
Group 15
, HHg 16
Group 16
. Hdg 17
Group 17
. HHAg 18
Group 18




Q.22 f&Fr =1 F #, 37 3T f HEAw t o It REe st seatadt
& §

Question ID : 9864494047
Status : Answered
Chosen Option :2

SM@A#N2B40&3C5P+D2

In the given sequence, the number of letters preceded by a symbol and followed by a
number is

SM@AHNIBAO&LICSPHD2
Ans X1 3
V22
<31
X4

°'23§ g eI & ng’m

How much does one need to add to E to obtain %‘?

Question ID : 9864492721
Status : Answered
Chosen Option : 3

Ans x_li
X2
V=

Q.24 SoEdita T55 A 100’ = Fa F v dvadee arfds dlt w BT % 100
e wfag wftr Benfeat # gae war &1 2017 & 5w oo Bt &t
= T F s=aaw i a2
ESPN annually ranks 100 of the most famous active sportspersons in the world to create

Question ID : 9864492399
Status : Answered
Chosen Option : 1

the “ESPN World Fame 100 list. Which Indian player had the highest ranking in this list
in 20172

Ans " e m
Virat Kohli
o , W
Sania Mirza
TH.TH. =r
MS Dhoni
X, TeaE g
Viswanathan Anand

X 3

Q.25 v= w5 UE EAT F ANET O AT 5 99 AN Al Al & o F o
#F AT | IS g ¥ S el 27

A girl introduces a man as the son of her grandfather and the brother of her maternal aunt.
How is the man related to the girl?

Question ID : 9864494241
Status : Answered
Chosen Option : 3

Ans o s/
Ko
Nephew

frar

X 2
Father




v =TT /ATHAT /BT AT /A1F (uncle)
Uncle

X .

Brother

Q.26

Ans

& % I W AR A T w & & g wunomdt & & Fia @
Fafafea &1

gfaa:

TR o e B § it e o meE & § ¥ mset W Beer A
SIee o ®i FOifE 97 FEarEeTeT g ¥

LT

1. &R T5F Al & GHEERT #1 AN §8 HA Fger gl
2. TR gieer ATfornt & @Y & SeraT Tgar gl

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

Government had put advertisements and issued advisories to public not to eat food from
the roadside, as they are unhygienic.

Assumptions:

1. Government wants to stop roadside vendors
business.
2. Government wants to increase the profit of hotel owners.

{1'31'-#13?\1'33234‘?!%%?%

Neither 1 nor 2 is implicit.
, FIe TEUROT 2 afafed gl
Only assumption 2 is implicit.
| el TEUROT 1 HefAed B
Only assumption 1lis implicit.
o | 3R 2 =t o safRfa

Both 1 and 2 are implicit.

~<

~x

Question ID : 9864494044
Status : Answered
Chosen Option : 1

Q.27

Question ID : 9864494086
Status : Answered
Chosen Option :2




3H 3coR-3NpTa (Answer Figure) F7 99 &1 St Wod-3TF T (Problem
Figure) & ? e &1 S9% o T

Problem Figure
0|1 0|0
DOED | degDeD|amd ?
U

Answer Figures

0
DED | DED|IDERA|amd

U
A B C D

Select the Answer Figure that can replace the ? symbol in the Problem Figure.

Problem Figure

0| 010 9

DD ([dRdDeD|amd

OO0 107"
Answer Figures

O Q U
DED |[DED|DEA|ARC
0 U

U

A
Ans X1D
< 2B
X3 C
VA

vl @

B

V% Py F yFEr Sfaw § Fbie |
Thumba in Kerala is famous because

Ans xluﬁmﬁaﬁraﬂtmﬁr%‘l

Question ID : 9864492116

Status : Not Attempted and
Marked For Review

Chosen Option : --

it has backwaters and lagoons.
T T g F E
it has an aryuvedic centre.
. TET F= T =TT ST 2
it has several tea gardens.

J4_wwﬁaﬁwmmé‘l

x

x

it is a rocket launching station.

Q.29

Question ID : 9864494227
Status : Answered
Chosen Option : 4




Sales of Bikes in India as per the Colourin
2009

25%

0%
. 10% 10%
10% % ™
dilzi I I I
" s 11
Blue Green Golden Brown Black Siter White Red Yellow

2009- 2009 # AR # T & AR argah H Fshr

Blue- e
Green- g1
Golden- Fegr
Brown- s
Black- rer
Silver- T&F
White- The
Red- et
Yellow- <rem
afE 2009 # &= 75 FAer-wElHer H1 For FEAT 15,000 o, & Fer T H AR HrgeT
F foraer w0 o T fr Aer-AEfa 3= a2 92
Sales of Bikes in India as perthe Colour in
2009

25%

0%

0%
15% a2

10% 10%
0% il ™

5%

5% I I ™ I I
- M |
Biue Green Goiden Brown Black siver White Red Yellow

If the total number of bikes sold in 2009 was 15000, how many more red bikes were sold
than black ones?

Ans X 1. 750
X 23,000
X 32,300
W 4 2,250

Q.30 AT 39 T @ 26 99 ST §l TOAT @ 8 9% W1 5ES T ST 35 3H%
T 3A F GEF ¥ & a9 FA gl SN H TOAS 57 4 g (I H)?

Jeremy is 26 years younger than his father. Eight years hence his father’s age will be two
years less than twice his age. What is Jeremy’s present age (in years)?

Ans  of 1. 20
<224
<322
< 418

Question ID : 9864492792
Status : Answered
Chosen Option : 1

Q.31

Question ID : 9864493980
Status : Answered

Chosen Option : 3




& 3w 99 2 (Problem figure) 2T 71T 3ot Rt (Answer figures) # &
ot v #F wieafea fFar o &1 S 3eax =T (Answer figure) st @T 22

Problem Figure

h—

-

Answer Figures

0

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

A C D

Problem Figure

—

]

Answer Figures

Ans 1. D
X2 A
vicC
X 4B

Q.32 FaTafla # @ ®ia b i sers va avg 1 TR o1 veaAn aiferite el
T & AN T eleT T T T 87

‘Which of the following physical quantities changes or tends to change the state of rest or
of uniform motion of a body in a straight line?

Ans m

' Inertia
Al

Mass
ol

Force
HaeT

- Momentum

K2

V3

p

Question ID : 9864493539
Status : Answered
Chosen Option : 3

Q.33

Question ID : 9864494083
Status : Answered
Chosen Option : 4




3T HFIT H T8 H S el g @ wafa @

A B C D
Select the figure that does NOT belong in the following group.

A B cC D
Ans x1_D

X2 A

X 3B

vicC

Q.34 v ade GUUT F THAT HE W UH 6] W TS ¥ | T ST Fr e

An object is placed at the centre of curvature of a concave mirror. Its image is formed at:

e x1_aaa—<-rr3ﬁ??rtli‘

a point beyond centre of curvature

xz_lﬁmw
the focus
v
PIehH 3R FhaT e F o fmdr fig W

a point between focus and centre of curvature
aehdl g W
the centre of curvature

X 4

Question ID : 9864493163
Status : Answered
Chosen Option : 4

Qb F g R TR A T T i s wa &
Fafafza 81

gfE:

3

T§ 2020 T A §

TR

1. 2020 # wEd & 29 &= g
2. 9% 2017 U HEES =45 2

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
The year 2020 is a leap year.

Assumptions:
1. February will have 29 days in 2020.
2. The year 2017 is not a leap year.

Ans

Question ID : 9864494087
Status : Answered
Chosen Option : 1




7 1 3R 2 g&1 JEuRene affed g
Both 1 and 2 are implicit.

, Faer @urReT 1 gk gl
Only assumption 1 is implicit.

| T TR 2 sEfted
Only assumption 2 is implicit.

X4;r;fr13ﬁ¢;r€r234‘aﬁ1%?r%|

Neither 1 nor 2 is implicit.

<

x

36 } IEECICCIF=CT
Q36 Pafefg IRl & T FiT @ s e 82 Question ID : 9864493615

‘Which of the following animal is not triploblastic? Status : Not Attempted and
Marked For Review

Ans : AT (Planaria) Chosen Option : --

~<
Planaria
it
Jelly fish
; TTHH (Ascaris)
Ascaris
Ka 2
Earthworm

x

Q.37 v wfFe (circuit) # v g ¥ gEY g 7% 2 C F7 amer vanfee @
afg & fagat & mex femaEior 5 3o &, o B 1w 0 &1 Amr e
e

A charge of 2 C passes from one point to the other in a circuit. If the potential difference

Question ID : 9864493206
Status : Answered
Chosen Option : 1

between the two points is 5 V, the amount of work done is:

Ans 10 A
v &) &
1071

5 &

57
0.4

X 2

X 3
0417

X a 25 9=
257

38
938 =13 & i @ srafell wer §2 Question ID : 9864493198

. .. . Status : Not Attempted and
‘Which of the following 1s a bisexual flower? Marked For Review

Ans Chosen Option : --
v Eared]]

Mustard




Q39 Ffg sin x+ cos x = V/Z sin x, @ tan x T AT F4T EEN? Question ID - 9864492777

Ifsinx + cos x=+/2 sin x, then the value of tan x is: Status : Answered

A ion :
ns X1_ ﬁ -1 Chosen Option : 1

X242
<31
ARV

Q.40 S W W T AR & AREE g W, 36 ey oS e F FH & )
Question ID : 9864493018
SeeAge FI0T °60 ATI 98 U cHg U 6T dell 715 fof el 1 TR, 30T Status : Answered
IRfEE BT it faw wre v defr e & O o ¥ e F s Chosen Option : 1
JTH FEfa 7 3eeraet FIoT 30° 2| 98 e e Rl @ faer g
=l ag?

The angle of elevation of the top of a 36 m tall tower from the initial position of a person
on the ground was 60°. She walked away 1n a manner that the foot of the tower, her mitial

position and the final position were all in the same straight line. The angle of elevation of
the top of the tower from her final position was 30°. How much did she walk from her

1nitial position?

Ans 24\'@%
1.
" 24+/3m

363 Hict

3643 m
24 AeY
24m

1243 #Hiex
4.
" 1243 m

A secOttanf=2, T secO-tanH=" Question ID : 9864492677
feecO T tan0=2 Mensecf-tan 0= osenopton 1
s of 105
X< 2075

<31
<415

Q.42
Question ID : 9864494148

Status : Answered




aﬁﬁﬁvma&ﬁ#maﬁqpmﬁ%@raﬁﬁmmmﬁll

Chosen Option : 1 J

13, 10, 7, 4,

Select the correct option that will complete the given number series.
13,10, 7,4,
Ans « 11
X 24
X33
X4 2

Q43 250 HT 56% THaaAT BEI?

56% of 250 is:
Ans  X'1.112

Question ID : 9864492766
Status : Answered
Chosen Option : 3

< 2 56
V2140
<4 84

Q.44 2017 # g eEFw (§81) Sad Whed RN FHaar Siar 82

‘Who won the Economic Times (ET) Lifetime Achievement award in 20177

Ans el H=ATel
X1i3ﬂ=ﬂ37f 2

Question ID : 9864492248

Status : Not Attempted and
Marked For Review

Chosen Option : --

Brijmohan Lall Munjal

, CEZ: IR R
Lakshmi Mittal

gairer Acaer
Koso 2
Sunil Mittal

" s, o g3y

Y.C. Deveshwar

x

% ot & T A (mole) # fraw 317 A &2

How many molecules are present in one mole of water?

Question ID : 9864493427
Status : Answered
Chosen Option : 3

Ans 6.02 x 102 3q0T
X1 2

6.02 X 10%° molecules

7.02 x 1023 HUT
X2 2
7.02 x 10°2 molecules
6.02 x 1023 37T
vs °
6.02 x 10?2 molecules
8.02 x 1022 3qur
F =
8.02 x 1022 molecules




Q.46 iy %20 e & 32,000 1 =Jer frar Siar &, 3¢ =anef & aredarss
IR 9T Tehgte fondT SIar § o 18 AW arg e fehereir g1

If¥ 2,000 is invested at the rate of 20% per annum, compounded half-yearly, then the
amount after 18 months will be:

Question ID : 9864492948
Status : Answered
Chosen Option : 3

Ans 1.3 2,600
~< 232,628
< 332,662
v 4% 3,200

Q.47 s Afte AT & IF FFd FAE - FEID FIEE, R F TEASS AT
FFATT F g & # forg o &7 9o fRar e

The Grande Croix Commandeur in National Merit Order — the highest civilian honor of
Ivory Coast, Africa — was recently conferred on which Indian?

Question ID : 9864492245

Status : Not Attempted and
Marked For Review

Chosen Option : --

Ans x . ﬂ__ﬁa. ::na.
Narendra Modi
QUTE HE=T
v 2
Pranab Mukherjee
. .
3. ;
Gopalkrishna Gandhi
) OanaET &g

Manmohan Singh

<

Q.48 20 o F AT WAUH A TAWIR &7 & TH g@{ & WY AT 7w § | B,
T TAEISE F 10 QF IR F SiEr ST ¥ | 39 FAged wiau feaar
e

Two identical resistors of 20 £ each are connected in parallel. This combination, in turn,

Question ID : 9864493444
Status : Answered
Chosen Option :3

is connected to a 10 £ resistor. The equivalent resistance of the combination will be:

Ans X150
v 2300
X320
K410Q

Q.49 ix & T, efa § diF 7= a3 §) 10 O Uge &A% fUar & g, A &
I F 7 A | A H FAA g e 82

Tom’s father is thrice as old as Tom. 10 years ago Tom’s father’s age was 7 times his age.
What is Tom’s current age?

Question ID : 9864492993
Status : Answered
Chosen Option : 4

Ans
o4

14 years

x, 17 ay

17 years

%, 16 ay

16 years




QS0 Zremit A 2 ¢ mmam 2 R saF A wgem 24 ¢
ar gEd T w2

The HCF of two numbers is 12 and their LCM is 72. If one of the two numbers is 24, then
the other number is:

Ans «1, 36
# 2 60
<372
<448

Question ID : 9864492642
Status : Answered
Chosen Option : 1

Q.51 e o TF BIEr # T a5 A AN Hohd HId gU Fal o,  TF Y AT
& SEeldr T T AT 7| AT T 5T FSF & FTY I Hawr 52

Pointing to a boy in a photograph, Neena said, “He is the son of my grandmother’s only
daughter”. How is Neena related to the boy?

Ans RG]

1,
Sister

| ST /A T T /A [T
Aunt

bl

xa &
Mother

x4 arar/ AT
Grandmother

x

Question ID : 9864494141
Status : Answered
Chosen Option : 1

Q.52 R=fa@T & & #i9 a1 ReeT By o B $ w8 g¥or 9T @t gofar 2,
T g9oT MN YT 97 T T B

M

Al

N

Select the option that depicts the correct mirror image of the given figure when the mirror
is held at the MN line shown.

Al

F 0

Ans

W 2

k!

Question ID : 9864494288
Status : Answered
Chosen Option :2




X 4

Q.53 T 717 Fededr ® T AT HT =T T T 97 FL F BT T (@) T
Tl FT THENT FT F HJET (FAA §) FIS &

gefrcied:

331, AN AN TG GF AET T GG A AH T TR AT

for:
1. U SHIS H SHAT ASGY T Ul § AT e gem

2. ®I5 TFT FASN & &

Consider the given statement true and decide which of the given conclusion(s) logically
follow(s) from the statement.

Statement:

Arise, awake and stop not until the goal is reached.

Conclusions:

1. A human being has to get out of his state of helplessness.
2. No individual is weak.

Ans «1'1 3R 2 gt e W

Both conclusions 1 and 2 follow.

| a0 ARy 2 SpERoT e 2

| Only conclusion 2 follows.

| A Ry 1 SERT e g

| Only conclusion 1 follows.

, 1 3R 2 3= HgEr A S E

Neither conclusion 1 nor 2 follows.

~<

x

x

Question ID : 9864494243
Status : Marked For Review
Chosen Option : 4

Q.54 Te=RAfEa # § Fi9 @ oig 559 a9AR W o s & arr st
g @ &2

Which of the following metals does NOT react with Oxygen even at a high temperature?

Ans AEAT

Question ID : 9864493232

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.55

Question ID : 9864494352




30 fameT @1 =37 wT S (Problem figure) T\ = 7 937 fEar (7) &

TET TRaT Bl

Problem Figure

\1"7{

Y

A

Problem Figure

Select the option that can replace the question mark (?) in the Problem Figure.

Y

-0

Ans

X2

F

Status : Answered

Chosen Option : 1

Q.56 2017 & =TT RS 3 3T A 37ET To=' F oEH BT 87
‘Who is the author of the Indian English Novel ‘No Other World® published in 20172

Question ID : 9864492191
Status : Not Answered




Ans - 9 s
Chetan Bhagat
, 3ifarer Femér
Amish Tripathi

x 3 fafer =y
Nidhi Chanani

v 2 TIEH m

Rahul Mehta

Chosen Option : --

Q.57 gg v § o s 3T e et saur A F @ S e

&l

is the process in which acids and bases react to form salts and water.

Ans
Hqgcd
o, 19T
Electrolysis

e TRoT
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Question ID : 9864493630
Status : Answered
Chosen Option : 1
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Name the organ where the embryo develops:

Ans v ISTRRT
Uterus
arsTeRT frar
Cervix
HAIGelT

Ureter
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Fallopian tube
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Question ID : 9864493417

Status : Not Attempted and
Marked For Review
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In 2017, which celebrity was appointed as the Goodwill Ambassador of the United
Nations in India to amplify awareness about the Sustainable Development Goals (SDGs)?

Ans x Rrgepr =ra=r
Priyanka Chopra

Question ID : 9864492414
Status : Answered
Chosen Option : 1
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The below table gives the details of the number of students in Class 10. section A and B
who had taken mid-term and final exam.

‘What is the total number of students in both, section A and B?

Result Sec A Sec B
Total number of 28 23
students who failed in
both exams.
Total number of 14 12
students who failed in
mid-term but passed in
finals.
Total number of 6 17

students who passed in
mid-term but failed in

finals.

Total number of 64 55
students who passed in

both the exams.

ms X 1221
V2219
X2 291
X 4292

Question ID :
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Chosen Option :

9864493745

Not Attempted and
Marked For Review
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Question ID : 9864493471
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Fill in the blank with the most appropriate option.

Ethanol is denatured to

Ans xla-\qﬁrﬁﬂwﬁq%m

increase its stability
=0 9 & T eugesd a9
.’2' . .
make it unsuitable for drinking
. SH WU & T H I9gFS T
make it suitable as an antiseptic
?‘( g I F T 397w s9=
4.

make it suitable for drinking
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Status : Answered

Rice production { In Crore Tonnes)
Countries] 2001 2002 2003 2004 2005 Chosen Option :3
India 9 10.7 8.9 11.6 8.4
Bhutan 14.5 16.3 16.2 16.4 16.8
Srilanka 14.9 15.7 16.8 16.9 17.8
China 7.6 8.4 7.4 7.9 8.6
Japan 21 22.6 23.2 22.2 23.9

Rice production (In crore tonnes)- =Tee &l e (FUS AT H)
Countries- gar

India- #T

Bhutan- &2

Srilanka- feeRT

China- ==

Japan- ST

oS H FIUH 58 a¥ 9d & 3eea # FREe @ 2

Study the given data and answer the question that follows.

Rice production { In Crore Tonnes)
Countries| 2001 2002 2003 2004 2005
India 9 10.7 8.9 11.6 5.4
Bhutan 14.5 16.3 16.2 16.4 16.8
Srilanka 14.9 15.7 16.8 16.9 17.8
China 7.6 8.4 7.4 7.9 8.6
Japan 21 22.6 23.2 22.2 23.9

In which year did Bhutan’s rice production decrease for the first time?

Ans X 1. 2004
v 22001
/< 32003
< 42005
Q.63

Question ID : 9864492844
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Which of the following pairs is NOT a pair of twin primes?

Status

Chosen Option :

:Not Attempted and

Marked For Review

Ans X171, 73

~< 2191, 193
W 3131, 133
X411, 13
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A well of diameter 3m and depth 14 m is dug. The earth, taken out of it, has been evenly
spread all around it in the shape of a circular ring of width 4m to form an embankment.
Find the height of embankment?

Question ID
Status

Chosen Option :

19864492611
:Not Attempted and

Marked For Review
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Atomic mass of Sulphur is 32 u. The number of moles in 16 grams of Sulphur is:

Ans v TERFOS Hret
0.5 moles of Sulphur

Question ID :
Status :

Chosen Option :

9864493068

Not Attempted and
Marked For Review

, FEHTH 1L AL
"1 mole of Sulphur

, TEHTH0.75 Alel
0.75 moles of Sulphur

, T M0.25 Hrer
0.25 moles of Sulphur

Q.66 FeT & 3:47 ¥=f we &1 gE AN e #r g g@ Fww v & i F &
BIET 0T TohaaT gRm?

‘What would be the smaller of the two angles formed by the hour hand and the minute
hand at 3:47 p.m.?

Question ID : 9864492913
Status : Answered

Chosen Option :

1

Ans X 1.166.5°
< 2.165°
< 3.162°




v 4168.5°

Q.67 vs &7 66 Tpaiisier Uiy ger &7 71fa & 300 HieT oid wIewhd & 24 Ths &
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A train travelling at the speed of 66 km/h crosses a 300 m long platform in 24 seconds.
How long was the train?

Ans
;180 FIET
180m
x, 160 FIET
160 m

x o 140 HreT
140 m

v« 240
240m

Question ID : 9864493011
Status : Answered
Chosen Option : 3
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, found in blood, is responsible for oxygen transportation.
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Question ID : 9864493636
Status : Answered
Chosen Option : 1
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T/

off Fr v Thfaes e & 39= AT 9% (LED) & 309 9 50% I @
T o F T AT B

THIROT:

1. 92 (LED) & &1 oy 5 war 31

2. 94T o (LED) &= Fr ot fdar a7 et

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

A top television company announced up to 50% discount on their new launch of LED TV.

Assumptions:

1. The sales of the LED TV may increase.
2. The company will become the top seller of the LED TV.

Ans X1-

Question ID : 9864494120
Status : Answered
Chosen Option : 3




T 3 TEUROT 1 AR A1 & qEuRT 2 deatted gl
Neither 1 nor 2 is implicit.
RS qHUROT 2 IR 3
Only assumption 2 is implicit.
. forF JEuren 1 w=afafea gl
Only assumption 1 is implicit.
| 2 T st

Both 1 and 2 are implicit.
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A person driving at the speed of 45 km/h reaches office 1 minute early while she reaches 3
minutes late if driving at 40 km/hr. What is the distance (in km) that she is covering?

ans X124
X232
v 2 30
X428

Question ID : 9864492971
Status : Answered
Chosen Option : 1
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‘Which union minister from the Lok Jana Shakti Party belongs to PM Narendra Modi’s
Cabinet?

Ane s e AigA g
‘Radha Mohan Singh
XZ.Iﬁamm
Ravi Shankar Prasad
(armﬁﬂmmsr
Ram Vilas Paswan
4.?. Y. F5=r

J.P. Nadda
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Question ID : 9864492267
Status : Answered
Chosen Option : 3

072 ST TEAT T 84%, 105 & TEAT fhaer T

84% of a number i1s 105. The number 1s:

Question ID : 9864493007
Status : Answered
Chosen Option : 4

as X 1.115
X 2112
3120
X 4125
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Question ID : 9864494355
Status : Answered
Chosen Option : 1
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Which among the following is different?

Super Tackle, Raider, Bowler, Defender

Ans 4
«1_'“331?

X 3
Super Tackle

BIHEANT

4,
Raider

Q.74 Zr =iv T & wer vfafees f=fof@e Rest & @ =g 82

LATERAL

‘Which of the options depicts the correct mirror image of the following figure?

LATERAL
™« JAAR3TAL

x: LARETAL
~*FTAHBELAT
v JAR3ITAL

Question ID : 9864494138
Status : Answered
Chosen Option : 4

Q.75

Question ID : 9864494136
Status : Answered
Chosen Option : 1
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According to the given Venn diagram, the total number of students in the classis .
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Ans J14 55
< 256
X 353
< 454




